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This document aims at presenting a guidelines for designing flyback converter, and the
overal procedures is as below.

Now,we will start the designing step-by-step as above in details..

Step1:初始化系统参数
（ Initial the systerm parameters）

------输入交流范围： Vinmin_AC 90V:= Vinmax_AC 265V:=

------电网工频： fline 50Hz:=

输出：



------输出： Vout1 5V:= Iout1 1A:=

Vout2 15V:= Iout2 0.1A:=

PO Vout1 Iout1× Vout2 Iout2×+ 6.5W=:=

------开关频率： fsw 100kHz:=

------预估效率： η 0.8:=

Pin

PO

η
8.125W=:=

------各路输出功率占比：

KL1

Vout1 Iout1×

PO
0.769=:=

KL2

Vout2 Iout2×

PO
0.231=:=

Step2:确定输入电容Cbulk
（Determine the input capacitor Cbulk）

------宽压输入，3µF/W，取15µF+14.7µF两个400V高压电容并联：

Cbulk 19.7µF:=

------计算整流后最小直流电压：

Dch 0.2:=

( )



Vinmin_DC 2 Vinmin_AC×( )2
Pin 1 Dch-( )×

Cbulk fline×
- 97.985V=:=

Step3:确定最大占空比Dmax
（Determine the Dmax）

------NCP1015工作于DCM模式，最大占空比取：

Dmax 0.45:=

------计算反射电压：

Vor

Dmax

1 Dmax-
Vinmin_DC× 80.169V=:=

Step4:确定变压器初级电感Lm
（Caculate Primary inductance Lm of the transformer）

------DCM模式电流纹波系数：

KRF 1:=

------计算初级电感：

Lm

Vinmin_DC Dmax×( )2
2 Pin× fsw× KRF×

1.196 10
3-

´ H=:=

------计算初级电流峰值：



IEDC

Pin

Vinmin_DC Dmax×
0.184A=:=

ΔI
Vinmin_DC Dmax×

fsw Lm×
0.369A=:=

Idspeak IEDC
ΔI

2
+ 0.369A=:=

------计算初级电流RMS：

Idsrms 3 IEDC
2

×
ΔI
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Dmax

3
× 0.143A=:=

------计算MOS的导通损耗，NCP1015内置MOS的Rdson为11Ω：

Rdson 11Ω:=

Pcond Idsrms
2

Rdson× 0.224W=:=



Step5:选择合适的磁芯，计算初级电感Lm匝数
（Select proper core ，caculate primary Lm turns Np）

------磁芯选择EFD20，根据磁芯手册可知：

Ae 31mm
2

:=

------DCM模式，磁通摆幅：

ΔB 0.21T:=

------初级电感匝数：

Np round
Lm Idspeak×

ΔB Ae×
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68=:=

Step6:确定各路输出的匝数
（Determine the turns of each output）

设各路输出整流管的正向导通压降相同： 

VF 0.5V:=

------主路：

Ns1 round
Vout1 VF+

Vor
Np×
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5=:=

------辅路：

Ns2 round
Vout2 VF+

Vout1 VF+
Ns1×
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14=:=

------IC供电辅助线圈：

Vaux 20V:=



Na round
Vaux VF+

Vout1 VF+
Ns1×
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19=:=

Step7:确定每个绕组的线径
（Determine the wire demission for each output）

根据流过每个绕组电流的RMS决定导线线径，导线电流密度取：

ρ 8
A

mm
2

:=

------初级Lm：

Iprms Idsrms:=

Dp 2
Iprms

ρ π×
× 0.151 mm×=:=

------次级主路：

Isecrms1 Idsrms

1 Dmax-

Dmax
×

Vor KL1×

Vout1 VF+
× 1.769A=:=

Ds1 2
Isecrms1

ρ π×
× 0.531 mm×=:=

------次级辅路：

Isecrms2 Idsrms

1 Dmax-

Dmax
×

Vor KL2×

Vout2 VF+
× 0.188A=:=

Ds2 2
Isecrms2

ρ π×
× 0.173 mm×=:=

Step8:为每一路输出选择合适的整流二极管
（Select proper rectifier diode for each output）

------主路：



VD1 Vout1

2 Vinmax_AC×

Vor
Vout1 VF+( )×+ 30.711 V=:=

IDrms1 Idsrms

1 Dmax-

Dmax
×

Vor KL1×

Vout1 VF+
× 1.769A=:=

------辅路：

VD2 Vout2

2 Vinmax_AC×

Vor
Vout2 VF+( )×+ 87.458 V=:=

IDrms2 Idsrms

1 Dmax-

Dmax
×

Vor KL2×

Vout2 VF+
× 0.188A=:=

Step9:为每一路输出选择合适的滤波器
（Select proper filter for each output）

------主路：

输出电容Cout1承受的纹波电流为：

Icaprms1 IDrms1
2

Iout1
2

- 1.46 A=:=

可选择两个470µF（16V）的Rubycon电容组成CLC滤波器，L取1µH

Cout1 940µF:= Esr1
0.056

2
Ω:=

则输出电压纹波为：



ΔVout1

Iout1 Dmax×

Cout1 fsw×

Idspeak Vor× Esr1× KL1×

Vout1 VF+
+ 0.12 V=:=

------辅路：

输出电容Cout2承受的纹波电流为：

Icaprms2 IDrms2
2

Iout2
2

- 0.16 A=:=

Step10:钳位吸收电路设计
（Clamp and snubber circuit design）

------二极管Dclamp：

20W以下输出功率，钳位二极管采用1N4007即可：

------Rclamp：

Vclamp Vor 70V+:=

LLK 0.05 Lm×:=

Rclamp 2
Vclamp Vclamp Vor-( )×

LLK fsw× Idspeak
2

×
× 25.875 kΩ×=:=

------Cclamp：

Vripple 0.1Vclamp:=



Cclamp

Vclamp

Vripple fsw× Rclamp×
3.865 nF×=:=

Step11:补偿电路设计
（Compensation circuit Design）

Rs 2Ω:= j 1-:= Rload

Vout1
2

PO
:=

功率级传递函数(Power stage transfer function)：

H f( )
1

4

Vout1

Idspeak Rs×
×

1 2 π× f× j× Esr1× Cout1×+

1 2 π× f× j×
Rload Cout1×

2
×+

:=

According to the Transfer function,we can get the Bode of power stage.
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Here, we select Dean Venable Type II as compensation circuit, and the
typical circuit in an isolate application with Opto PC817 is:

R1 is the upper divider resistor:

R1 5kΩ:=

From the datasheets of PC817 and NCP1015,we can get the inner
pullup resister:

Rpullup 18kΩ:=



And the stray opto capacitor, CTR:

Copto 4.3nF:=

CTR 0.4:=

Generally, we dermine the open loop crossover frequency by the output
voltage overshoot or undershoot of dynamic load:

Dynamic load: ΔIout 0.8A:=

Overshoot Voltage: ΔVout 0.25V:=

Select crossover frequency:

fcross

ΔIout

2 π× Cout1× ΔVout×
541.804 Hz×=:=

Dermine the mid-band gain: 

Rled CTR
Rpullup

10
log H fcross( )( )-

× 1.966 kΩ×=:=

Power Stage phase shift: 

PS
arg H fcross( )( )

π
180× 75.65-=:=

Set the open loop phase margin：

PM 70:=

Caculate the phase Boost requirement of compensation circuit: 

Boost PM PS- 90- 55.65=:=

Dermine the k Factor: 

k tan
Boost

180 2×
π×

π

4
+æç

è
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ø

3.235=:=



Caculate Cpole and Cz: 

Cpole
1

2 π× Rpullup× k× fcross×
Copto- 0.744 nF×=:=

Cz
k

2 π× R1× fcross×( )
190.085 nF×=:=

Bode plot of compensation circuit: 

G f( )
Rpullup CTR×

Rled

1
1

2 π× f× j× R1 Cz×( )×
+

1 2 π× f× j× Rpullup Cpole Copto+( )×éë ùû×+
×:=
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Combining the power stage and compensation circuit in
serial: 

T f( ) H f( ) G f( )×:=

The bode of flyback: 
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